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Given this rational expression: i
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Why can you do this? But you can't do this?
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Here you are actually
multiplying the original
expression by 1, and this
doesn't change the \@ﬁ
of the expression.

This is the same as taking
the square root of the whole
ratio which changes the value
of the original expression.
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Simplify without using a calculator.
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Simplify without using a calculator.
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Simplify without using a calculator
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Simplify without using a calculator.
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Simplify without using a calculator.
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You can now finish Hwk #2: Sec 7-4

Page 389 Due Tomorrow

Problems 39, 40, 42, 44, 46, 49, 66, 67, 70, 72



